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Income Tax Law & Practice
Maximum Marks: 75
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Note: Attempt all the five questions. One question from each unit is
compulsory. All question carry equal marks.
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What do you mean by agricultural income? What are its kinds? State ten
incomes which are related to land but are not agricultural income.

OR ()
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How is the residence of assesses determined for income tax Purposes? Explain
the incidence of residence on tax liability.

Unit-2 s&rE—<1

Q.2. #&M Wufed & A Heg | 3T FT FHST 87 U ADG B Hod MY
frd geR MuiRa o S 9 o # go @ & forg @relt &7 2

What do you understand by the term 'Annual value of house property'? How
would you determine the annual value of a house property which remained vacant
for part of the previous year?

OR ()
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Mr. P gets a salary of 30,000rs. Per month. He also gets dearness allowance @
10% of the salary, house rent allowance of 5,000rs. per month and proctor's
allowance of 1000rs. Per month. During the previous year 2019-20, he was out of
India for three months and the salary and allowances for this period were paid to
him abroad. He was not paid any proctor's allowance while he remained out of
India. He paid 4,000rs. Per month as the rent of the house occupied by him for his
residence. He also owned a scooter which he used for the purpose of his
employment in India for which he did not get any conveyance allowance. Find
out his income from salary for the Assessment year 2020-21.
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Explain clearly the deductions that are expressly allowed in computing the
income from business under the Indian Income Tax Act. 1961.

Or (am)
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2001—02 H WIS BT 4,50,000
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Mr. A provides the following data regarding his transactions for the sale of his
residential house for the Assessment year 2020-21. Compute the amount of



capital gains to be included in the total Income Tax for the Assessment year 2020-

21: Rs.
House purchased in 2001-02 4,50,000
Sold in November 42,00,000
Purchased another residential house in September 2019 16,00,000
Invested in bonds of NHA of India U/s 54 EC in January, 2020 10,00,000

The cost inflation index in 2001-02 was 100 and in 2019-20 it was 289.
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Discuss the basis of the assessment of a Hindu undivided family.
Or (am)
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Z purchased a plot of land for 1,00,000rs. in May 2001. He constructed a
residential house on that plot at a cost of 5,45,000rs. in September 2003. He sold
the house in June 2019 for 32,00,000rs. and purchased another residential house
in August 2019 for 12,00,000rs.

His other income is 40,000rs. He Deposited 50,000rs. in PPF during the
previous year.

Cost inflation index are: 2001-02:100, 2003-04:109, 2019-20:289.

Compute his total income for the Assessment year 2020-21.
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What are the various authorities envisaged in the Indian Income tax law and what
are their functions?

Or (2
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"Tax planning is a legal and moral way of Tax saving." Discuss the statement.



